Ajenb

01 paxul|
Ajusuewlad
1992 radAL

<- 0002-10 ‘(9LN) SI00p G+€ BlOW[E
uessIN -axeN

suononJisul Bunyi




Tested in accordance with directives 94/20/EG

© 2667/08-04-2004/1

© 2667/08-04-2004/10




¢/¥00¢-¥0-80/.99¢ ©

O (x1) S ’7
Buoo|yes By 1992

) PXG01X5Z0
2L () = (x2) &
2L (X2) =L, 9LIN (X}) =)
OLIN (x2) &

2 LE/SLXTLIN
(x1)
9LIN (X1)

@
OLIN (x6) @
OPX9LIN (X1) g

0EX0LIN (X6)

2'92/0.X2 LN
(x1)

siEE]

6/¥002-¥0-80/.99¢ ©

‘usbuuque OZAIS Jewab abejuy ayosupa|g
‘uagab ANL Jep J9po Js|puByyoR Jy| UUBY Jagnialy Junysny
‘uaplam Jouyoaiabyoeu Lap
- wep sne s|jejusuagabab isejebueyuy abissenzisyogy aip gnw
sajyoImabbnaziye sap usbuniapuy 1ag "uswyaulus nz usbejiaiun
Bnaziyeq uap 1sI i1sejabueyuy susasse|ebnz Bnaziye4 sep Iny aiq

*ISIAMNIH

@ WN |¢ = G \“1?»?:;5




A <Z,

© 2667/08-04-2004/3

(1x)
M12x70/26.2

(1x) M12

(1x) M12
selflocking

/,’
>

© 2667/08-04-2004/8




¥/¥00¢-¥0-80/.99¢ ©

T E ¢

= BHGL | X

o= 0 «@\ﬁ\\ )
—— 1 M
. & i PSS s0,, s

8,

//¥00¢-¥0-80/.99¢ ©

Bupjooyyes
2L (x1)

ZLN (x1)

LA RIR AN
(x1)

[ ]
=

&S

juasaud Ji *

1




g (7x) M10x30

=g (7x) M10

(7x)
@D o5x10,5x4

if present

© 2667/08-04-2004/5

— __‘(\
(=Y

E (2x) M10x30

g (1x) M16x40

= (2x) M10

=g (1) M16

& (2x) M10 @

= (1) M16 é (9x) M10
(1x) M10 | ﬁ g 46 Nm

© 2667/08-04-2004/6






Bumper cutout fixed version model yedr "00
KES00-BM300

5
(@R
& 8
S 2
O
(€D
@
N
<
110
I
1
T
|
|
- - Centerre
I
RO

93,5

72







Bumper cutout fixed version model year 2003

KE500-BM300
o)
g| g
el 3
2|3
S| @
2|
- )
< 700 >
A
o
=
Q
o _ _ _ _ _ _ I\/ﬂddle bgmper _ _
A
o
=
Y L
A
10
3

72






